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ASSISTANT DIRECTOR [WOMEN CANDIDATE ONLY] DEPARTMENT OF SOCIAL 
WELFARE AND WOMEN EMPOWERMENT IN TAMIL NADU GENERAL SERVICE – 

5/11/2022 
 

1. “In battle for liberty, fear is the one unforgivable treachery and despair the one 
unforgivable sin” – Who said this? 
a. Chittaranjan Das   b. Sarojini Naidu  c. Annie Besant 
d. Motilal Nehru   e. Answer not known 
“Rje;jpuj;jpw;fhd Nghhpy;> gak; vd;gJ kd;dpf;f Kbahj JNuhfk; kw;Wk; tpuf;jp vd;gJ 
kd;dpf;f Kbahj ghtk;” ,ij ahh; $wpaJ? 
a. rpj;juQ;rd; jh];   b. rNuh[pdp ehAL  c. md;dp ngrd;l; 
d. Nkhjpyhy; NeU   e. tpil njhpatpy;iy 
 

2. Who among the following leaders opposed the proposal of ‘either mending or ending’ 
the councils at the Gaya session of the Congress in 1922? 
a. Madan Mohan Malaviya  b. C.R. Das   c. Motilal Nehru 
d. C. Rajagopalachari  e. Answer not known 
1922k; Mz;L fah fhq;fpu]; mkh;tpy; rigfis ‘xd;W rPh;gLj;JtJ my;yJ Kbj;J 
itg;gJ’ vd;w Kd;nkhopiy> fPo;tUk; jiyth;fSs; ahh; vjph;j;jJ? 
a. kjd; Nkhfd; khstpah  b. rp.Mh;. jh];  c. Nkhjpyhy; NeU 
d. rp. ,uh[Nfhghyr;rhhpahh; e. tpil njhpatpy;iy 
 

3. Which one of the following is NOT correctly matched? 
(i) Go back to the Vedas - Dayanand Saraswathi 
(ii) Swaraj is my birth right - Gandhi 
(iii) Jai Jawan   - Bhagat Singh 
(iv) Long years ago we have made tryst with destiny - Jawaharlal Nehru 
a. (i) and (ii) are correct  b. (i) and (iv) are correct c. (ii) and (iii) are correct 
d. (ii) and (iv) are correct  e. Answer not known 
gpd;tUtdtw;Ws; vJ rhpahfg; nghUe;jtpy;iy? 
(i) Ntjq;fSf;Fj; jpUk;G  - jahde;j ru];tjp 
(ii) Rauh[;[pak; nghJ gpwg;Ghpik - fhe;jp 
(iii) n[a; [thd;    - [t`h;yhy; NeU 
a. (i) kw;Wk; (ii) rhpahdit    b. (i) kw;Wk; (iv) rhpahdit 
c. (ii) kw;Wk; (iii) rhpahdit   d. (ii) kw;Wk; (iv) rhpahdit 
e. tpil njhpatpy;iy 
 

4. Which of the following pair is/are not correctly matched? 
1. Champaran Satyagraha  - 1917 
2. Kheda Satyagraha  - 1927 
3. Ahmedabad Mill Strike  - 1918 
4. Rowlatt Act Satyagraha  - 1919 
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a. Only 1    b. Both 2 and 3   c. Only 2 

d. Both 2 and 4   e. Answer not known 
gpd;tUgtw;Ws; nghUe;jhj N[hb vJ? 
1. rhk;guhz; rj;jpahfpufk;   - 1917 
2. Nfjh rj;jpahfpufk;   - 1927 
3. mfkjhghj; kpy; NtiyepWj;jk; - 1918 
4. uTyl; rl;l rj;jpahfpufk;  - 1919 
a. 1 kl;Lk;    b. 2 kw;Wk; 3 ,uz;Lk;  c. 2 kl;Lk; 
d. 2 kw;Wk; 4 ,it ,uz;Lk; e. tpil njhpatpy;iy 
 

5. “…He is a knight sans peur, sans reproche. 
The nation is safe in his hands” 
To whom does this Gandhiji’s statement refer? 
a. Sardar Vallabhbhai Patel     b. B.R. Ambedkar 
c. Jawaharlal Nehru     d. Bhagat Singh 
e. Answer not known 
“mth; xU gakpy;yhj> Fw;wr;rhl;L ,y;yhj Nghh;tPuh; Nghd;wth;. Njrpak; mth; iffspy; 
ghJfhg;ghf cs;sJ” 
fhe;jp[papd; ,e;j $w;W ahiuf; Fwpf;fpwJ? 
a. rh;jhh; ty;ygha; gNly;  b. gp.Mh;. mk;Ngj;fh;  c. [t`h;yhy; NeU 
d. gfj;rpq;    e. tpil njhpatpy;iy 
 

6. Assertion [A]: Non-Brahmin were appointed to government service in British 
    India. 
Reason [R]:  Communal Representation Decree was passed in the year 1921. 
a. Both [A] and [R] are true but [R] is not the correct explanation of [A]. 
b. [A] is false but [R] is true 
c. Both [A] and [R] are true and [R] is the correct explanation of [A] 
d. [A] is true but [R] is false 
e. Answer not known 
$w;W [A]: gpuhkzh; my;yhNjhh; Mq;fpNya ,e;jpa Ml;rpapy; muRj; Jiwapy; 
   Ntiyf;F mkh;j;jg;gl;ldh;. 
fhuzk; [R]: 1921k; Mz;L tFg;Gthhp gpujpepjpj;Jt Miz 
   epiwNtw;wg;gl;likNaahFk;. 
a. $w;W [A] kw;Wk; fhuzk; [R] rhp> Mdhy; fhuzk; $w;iw tpsf;ftpy;iy 
b. $w;W [A] jtW> fhuzk; [R] rhp 
c. $w;W kw;Wk; fhuzk; rhp> fhuzk; $w;iw tpsf;Ffpd;wJ 
d. $w;W [A] rhp> fhuzk; [R] jtW 
e. tpil njhpatpy;iy 
 

7. Who laid the foundation of Radhakrishna high school at Jagraon in 1914? 
a. Bipin Chandra Pal  b. Chittaranjan Das  c. Lala Lajpat Rai 

d. Sardar Vallabai Patel  e. Answer not known 
1914 Mk; Mz;L [hf;Nuhdpy; cs;s uhjh fpU~;z cah;epiy gs;spia epWtpath; 
ahh;? 
a. gpgpd; re;jpughy;   b. rpj;juQ;rd; jh];  c. yhyhy[gjp uha; 
d. rh;jhh; ty;ygha; gl;Nly;  e. tpil njhpatpy;iy 
 

8. The Swadeshi Steam Navigation Company’s shipping service were between ______ and 
______. 
a. Tuticorin – Kerala   b. Tuticorin - Colombo c. Tuticorin – Mumbai 
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d. Tuticorin – Calcutta  e. Answer not known 
RNjrp ePuhtp fg;gy; fofk; jd;Dila ePuhtp fg;giy vq;fpUe;J vq;F tiu ,af;fpaJ? 
a. J}j;Jf;Fb – Nfush   b. J}j;Jf;Fb – nfhOk;G 
c. J}j;Jf;Fb – Kk;ig   d. J}j;Jf;Fb – nfhy;fj;jh 
e. tpil njhpatpy;iy 
 

9. Choose the right matched among the following: 
1. Vellore Mutiny   - 10th July 1806 
2. The Revolt of 1857  - The Plantations workers 
3. Madras Mahajana Sabha - Dr. Rangiah Naidu 
4. Partition of Bengal  - 20th July 1905 
a. 1 and 3 are correct  b. 1 and 4 are correct c. 1, 3 and 4 are correct 

d. 2, 3, 4 are correct   e. Answer not known 
fPo;f;fz;ltw;wpy; rhpahd ,iziaj; Njh;e;njLf;f 
1. NtY}h;f; fyfk;  -  10 [_iy 1806 
2. 1857k; Mz;L Gul;rp - Njapiyj; njhopyhsh;fs; 
3. nkl;uh]; kfh[d rig - Dr. uq;fa;ah ehAL 
4. tq;fg;gphptpid  - 20 [_iy 1905 
a. 1> 3 kw;Wk; 4 rhp   b. 1 kw;Wk; 4 rhp  c. 1> 3 kw;Wk; 4 rhp 
d. 2> 3> 4 rhp    e. tpil njhpatpy;iy 
 

10. Arrange the following stages of women 
1. Mangai 
2. Arivai 
3. Madanthai 
4. Therivai 
a. 1 4 2 3  b. 1 3 2 4 c. 1 2 4 3 d. 3 1 2 4 e. Answer not known 
fPo;f;fz;ltw;Ws; ngz;fspd; gUtepiyfis thpirg;gLj;Jf. 
1. kq;if 
2. mhpit 
3. kle;ij 
4. njhpit 
a. 1 4 2 3  b. 1 3 2 4 c. 1 2 4 3 d. 3 1 2 4 e. tpil njhpatpy;iy 
 

11. Who was the first women Legislative Assembly member of Madras Presidency? 
a. Muthulakshmi Reddy    b. Sarojini Naidu 
c. Moovalur Ramamirthan    d. Anandi Gopal Joshi 
e. Answer not known 
nrd;id khfhz rl;lkd;wj;jpd; Kjy; ngz; rl;lkd;w cWg;gpdh; ahh;? 
a. Kj;Jy~;kp nul;b     b. rNuh[pdp ehAL 
c. %tY}h; uhkhkph;jk;    d. Mde;jp Nfhghy; N[h~p 

e. tpil njhpatpy;iy      
 

12. Name the Tamil Newspaper published by Justice Party? 
a. Dravidan   b. Kudiarasu   c. Nava Shakti 
d. Viduthalai   e. Answer not known 
ePjpf;fl;rpahy; ntspaplg;gl;l jkpo;g; gj;jphpf;if ngaiu Fwpg;gpLf. 
a. jpuhtpld;   b. FbauR   c. etrf;jp 
d. tpLjiy   e. tpil njhpatpy;iy 
 

13. Which one is/are correct regarding Aringnar Anna? 



 

4 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187     http://www.appolosupport.com/ 

 

1. He approved self respect pattern of marriages 
2. He changed the name of Madras into Tamilnadu 
3. The Second World Tamil conference held in 1969 
4. The statue for Kannagi was erected in Marina Beach 
a. 1 only   b. 1, 2 only    c. 2, 3 only 
d. 1, 2, 3, 4   e. Answer not known 
fPo;f;fz;ltw;wpy; mwpQh; mz;zhit gw;wpa rhpahd $w;W vJ? 
1. Rakhpahij jpUkzq;fis mq;fpfhpj;jhh;. 
2. nrd;id khepyk; vd;w ngaiu jkpo;ehL vd khw;wpdhh;. 
3. ,uz;lhk; cyf jkpo; khehL 1969y; eilngw;wJ. 
4. nkhpdh flw;fiuapy; ,tuJ Ml;rpapy; fz;zfp rpiy epWtg;gl;lJ 
a. 1 kl;Lk;   b. 1> 2 kl;Lk;  c. 2> 3 kl;Lk; 
d. 1> 2> 3> 4   e. tpil njhpatpy;iy 
 

14. Match the plays of C.N. Annadurai with their themes 
A. Velaikari    1. Tracing the origin of crime to poverty 
B. Oor Iravu    2. Appeal for prohibition 
C. Needhi Dhevan Mayakkam 3. About various social forces working at cross 
      purposes 
D. Nalla Thambi   4. The contradictions and inconsistencies in Kamban’s 
      delineation of various characters in Ramayana 
 A B C D 
a. 3 1 4 2 
b. 2 4 3 1 
c. 1 2 3 4 
d. 3 4 2 1 
e. Answer not known  
rp.vd;. mz;zhJiuapd; ehlfq;fis mtw;wpd; fUj;NjhL ,izf;f 
A. Ntiyf;fhhp  1. Fw;wq;fspd; mbg;gil Vo;ik vd;gij epWTjy; 
B. Xh; ,uT   2. kJ xopg;Gf;F MjuTf;F Fuy; 
C. ePjp Njtd; kaf;fk; 3. vjph; vjpuhd rKjha Mjpf;f rf;jpfspd; eltbf;iffs; 
D. ey;y jk;gp  4. ,uhkaz fijkhe;jh;fis cUthf;fpajpy; fk;gh; nra;j 

      jtWfis ntspg;gLj;Jjy; 

 A B C D 
a. 3 1 4 2 
b. 2 4 3 1 
c. 1 2 3 4 
d. 3 4 2 1 
e. tpil njhpatpy;iy 
 

15. “One who gives food, will give life” – What is the meaning of this 
Puranaanoottruppadal? 
a. Importance of giving food   b. About not giving food 
c. Importance of food    d. Importance of water 
e. Answer not known 
“ePhpd;W mikah ahf;iff;F vy;yhk; 
cz;b nfhLj;Njhh; caph; nfhLj;NjhNu’ vd;w GwehD}w;Wg; ghly; czh;j;Jk; fUj;J 
ahJ? 
a. czT toq;Ftjd; Kf;fpaj;Jtk;  b. czT toq;fhikapd; ,opT 
c. cztpd; ,d;wpaikahik   d. ePhpd; ,d;wpaikahik 
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e. tpil njhpatpy;iy 
 

16. Who wrote ‘Thirupallandu’ songs that are found in Saiva, Vainava religious literature? 
a. Seinthanar, Periyalvar   b. Thirugnana Sambanthar, Nammalvaar 
c. Sundarar, Poigaiyalvar   d. Manickavasagar, Kulasekaralvar 
e. Answer not known 
irt> itzt gf;jp ,yf;fpaq;fspy; ,lk;ngWk; ‘jpUg;gy;yhz;L’ – ghbath;fs; ahth;? 
a. Nre;jdhh;> nghpaho;thh;   b. jpUQhdrk;ge;jh;> ek;kho;thh; 
c. Re;juh;> ngha;ifaho;thh;   d. khzpf;fthrfh;> FyNrfuho;thh; 
e. tpil njhpatpy;iy 
 

17. Who is the predecessor among Tamil woman novelist? 
a. Indhumathi   b. Lakshmi   c. Vai.Mu. Kothai Nayaki 

d. Rajam Krishnan   e. Answer not known 
ngz; Gjpd vOj;jhsh;fspy; Kd;Ndhb ahh;? 
a. ,e;Jkjp    b. yÑ;kp   c. it.K. Nfhij ehafp 
d. ,uh[k; fpU~;zd;  e. tpil njhpatpy;iy 
 

18. Who was awarded the Sahitya Academy award for the book “KOPALLAPURATHU 
MAKKAL”? 
a. Ashokamithran     b. Melanmai Ponnusamy  
c. Ki. Raja Narayanan    d. Rajam Krishnan 
e. Answer not known 
“Nfhgy;yGuj;J kf;fs;” vd;w Gjpdj;jpw;F rhfpj;jpa mfhnlkp ghpR ngw;wth; ahh;? 
a. mNrhfkpj;jpud;     b. Nkyhz;ik nghd;Drhkp   
c. fp. uh[ehuhazd;     d. ,uh[k; fpU~;zd; 
e. tpil njhpatpy;iy 
 

19. In uyir tharuthalum aatrumo- 
Munniya theyethu muyandru sei porule 
The above lines are featured in which thinai? 
a. Kurinjikkali   b. Mullaikali   c. Maruthakali 
d. Palaikali    e. Answer not known 
“,d; caph; jUjYk; Mw;WNkh – 
Kd;dpa Njvj;J Kad;W nra;nghUNs?” 
vd tUk; fypj;njhifapd; ghlybfs; ,lk;ngw;Ws;s jpiz ahJ? 
a. FwpQ;rpf;fyp   b. Ky;iyf;fyp  c. kUjf;fyp 
d. ghiyf;fyp   e. tpil njhpatpy;iy 
 

20. Who is the author of the Book “THINAI MAALAI NOOTRAIMBATHU”? 
a. Kanna Senthanar   b. Kanimethaviyar  c. Muvathiyar 
d. Pullangadanar   e. Answer not known 
“jpiz khiy E}w;iwk;gJ” vd;w E}ypd; Mrphpah; ahh;? 
a. fz;zQ;Nre;jdhh;   b. fzpNkjhtpahh;  c. %thjpahh; 
d. Gy;yq;fhldhh;   e. tpil njhpatpy;iy 
 

21. Who is the Author of the poem “Esukaviyam”? 
a. H.A. Krishnapillai    b. Kaviarasu Kannadasan 

c. Kavignar Mu. Metha    d. Kavignar Meera 



 

6 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187     http://www.appolosupport.com/ 

 

e. Answer not known 
‘,NaR fhtpak;’ vd;w E}iy vOjpa Mrphpah; ahh;? 
a. vr;.V. fpU~;zg; gps;is    b. ftpauR fz;zjhrd; 
c. ftpQh; K. Nkj;jh    d. ftpQh; kPuh 
e. tpil njhpatpy;iy 
 

22. In which poem are the following lines taken from? 
“Marunguvandu Sirandharppa manippu aadai adhuporthu 
Karungayarkan vilitholgi nadanthaai vaali kaveri” -? 
a. Kadalaadu Kaadhai  b. Kaanalvari  c. Venirkkaadhai 
d. Naadukaan Kaadhai  e. Answer not known 
“kUq;Ftz;L rpwe;jhh;g;g kzpg;G+Mil mJNghh;j;J fUq;faw;fz; tpopj;njhy;fp ele;jha; 
thop fhNthp” vd;w mbfs; ,lk; ngw;Ws;s fhij? 
a. flyhL fhij   b. fhdy; thp   c. Ntdpw;fhij 
d. ehLfhz;fhij   e. tpil njhpatpy;iy 
 

23. The South Indian liberal federation was later popularly known as ________ 
a. Justice Party   b. Dravidian Kazhagam c. Dravidian Association 
d. Self Respect Movement  e. Answer not known 
njd;dpe;jpa tpLjiy ,af;fkhdJ gpd;dhspy; Gfo;kpf;f _____ miof;fg;gl;lJ. 
a. ePjpf; fl;rp    b. jpuhtplh; fofk;  c. jpuhtplh; $l;likg;G 
d. Rakhpahij ,af;fk;  e. tpil njhpatpy;iy 
 

24. First World classical Tamil conference held at _____ in June _____. 
a. Madurai, 2008   b. Chennai, 2009   c. Coimbatore, 2010 

d. Trichy, 2011   e. Answer not known 
Kjy; cyfj; jkpo; nrk;nkhop khehL eilngw;w ,lk; _____ kw;Wk; _____ Mz;L 
a. kJiu> 2008  b. nrd;id> 2009  c. Nfhak;Gj;J}h; 2010 
d. jpUr;rp> 2011  e. tpil njhpatpy;iy 
 

25. Under the Dr. Muthulakshmi Reddy Maternity Benefit Scheme, is the financial 
assistance disbursed to poor pregnant women is Rs. _____. 
a. Rs. 12,000    b. Rs. 15,000   c. Rs. 20,000 
d. Rs. 25,000    e. Answer not known 
lhf;lh Kj;Jnyl;Rkpnul;b kfg;NgW cjtpj; jpl;lj;jpd; fPo; Vio fh;g;gpzpg; 
ngz;fSf;F toq;fg;gLk; epjpAjtp &. _____. 
a. &. 12>000    b. &. 15>000   c. &. 20>000 
d. &. 25>000    e. tpil njhpatpy;iy 
 

26. As per the Census 2011, which district of Tamilnadu possesses the highest literacy rate? 
a. Chennai    b. Coimbatore  c. Kanyakumari 
d. Namakkal    e. Answer not known 
2011-Mk; Mz;bd; kf;fs; njhiff; fzf;nfLg;gpd; gb> jkpo;ehl;bd; ve;j khtl;lk; kpf 
mjpfkhd fy;tp tpfpj;ijf; nfhz;Ls;sJ? 
a. nrd;id   b. Nfhak;Gj;J}h;   c. fd;dpahFkhp 
d. ehkf;fy;   e. tpil njhpatpy;iy 
 

27. Identify the sector(s) of Indian Economy which are the most affected by COVID 
pandemic 
(i) Tourism and Hospitality sector 
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(ii) MSME sector 
(iii) Telecommunication sector 
a. (iii) only    b. (i) and (ii) only  c. (ii) and (iii) only 
d. (i) and (iii) only   e. Answer not known 
,e;jpag; nghUshjhuj;jpy; Nfhtpl; ngUe;njhw;why; kpfTk; ghjpf;fg;gl;lj; Jiw(fs;) 
(i) Rw;Wyh kw;Wk; tpUe;Njhk;gy; njhlh;ghd njhopy;fs; 
(ii) rpW kw;Wk; eLj;ju njhopy;fs; 
(iii) njhiy njhlh;G Jiw 
a. (iii) kl;Lk;   b. (i) kw;Wk; (ii)   c. (ii) kw;Wk; (iii) 
d. (i) kw;Wk; (iii)  e. tpil njhpatpy;iy 
 

28. SIDCO was converted into a public limited company in the year 
a. 1970 b. 1971 c. 1972  d. 1973  e. Answer not known 
SIDCO nghJj;Jiw epWtdkhf khw;wg;gl;l Mz;L 
a. 1970 b. 1971 c. 1972  d. 1973  e. tpil njhpatpy;iy 
 

29. Choose the right matches from the following 
(1) Sex ratio - Number of female per 1000 males 
(2) IMR - Mother’s death at the time of delivery per one lakh 
(3) MMR - Mortality before completing one year 
(4) Density of population - Measures population per square kilometer 
a. (1) and (3) are correct    b. (1) and (4) are correct 
c. (2) and (3) are correct    d. (3) and (4) are correct 
e. Answer not known 
rhpahfg; nghUe;jpAs;stw;iwj; Njh;e;njL 
1. ghypd tpfpjk; - 1000 Mz;fSf;F vj;jid ngz;fs; vd;w tpfpjk; 
2. IMR  - xU ,yl;rk; fh;g;gpzp jha;khh;fspd; gpurt ,wg;G tpfpjk; 
3. MMR  - xU taJ KbAk; Kd; Foe;ijfspd; ,wg;G tpfpjk; 
4. kf;fs; njhif mlh;j;jp - xU rJu fpNyh kPl;lhpy; trpf;Fk; kf;fs; njhif 

mstPL 
a. 1 kw;Wk; 2 rhp   b. 1 kw;Wk; 4 rhp  c. 2 kw;Wk; 3 rhp 
d. 3 kw;Wk; 4 rhp   e. tpil njhpatpy;iy   
 

30. The birth rate indicates the number of live births occurring during the year per ____ 
a. 100 population   b. 10,000 population  c. 1,000 population 
d. Sq. kilometre   e. Answer not known 
gpwg;G tpfpjk; _____f;F Xh; Mz;by; epfOk; Neub gpwg;Gfspd; vz;zpf;ifiaf; 
Fwpf;fpwJ. 
a. 100 kf;fs; njhif  b. 10>000 kf;fs; njhif c. 1000 kf;fs; njhif 
d. rJu fpNyhkPl;lh;   e. tpil njhpatpy;iy 
 

31. Assertion (A): People led strike to close the Sterlite-Copper industry in 
    Thoothukudi 
Reason (R):  The Sterlite-Copper industry’s waste and gas leakage pollute air 
    and coastal areas of Thoothukudi. 
a. (A) is True, (R) is False 
b. Both (A) and (R) are True, and (R) is the correct explanation of (A) 
c. (A) is False (R) is True 
d. Both (A) and (R) are True, but (R) is not correct explanation of (A) 
e. Answer not known 
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$w;W (A): J}j;Jf;Fbapy; ];nlh;iyl;-fhg;gh; njhopw;rhiyia %lNtz;Lk; vd;W 
   kf;fs; Nghuhl;lk; elj;jpdhh;fs;. 
fhuzk; (R): ];nlh;iyl;-fhg;gh; njhopw;r;rhiyapd; fopTfs; kw;Wk; mjpy; frpAk; thA> 
   fhw;iwAk;> J}j;Jf;Fb flNyhu gFjp Rw;WGw #o;epiyia ghjpf;fpd;wJ. 
a. (A) rhp Mdhy; (R) jtW 
b. (A) kw;Wk; (R) ,uz;Lk; rhp kw;Wk; (R) vd;gJ (A) tpw;F rhpahd tpsf;fk; 
c. (A) jtW Mdhy; (R) rhp 
d. (A) kw;Wk; (R) ,uz;Lk; rhp Mdhy; (R) vd;gJ (A) -tpw;F rhpahd tpsf;fky;y 
e. tpil njhpatpy;iy 

 
32. During 2017, 2018 the percapita income of Tamilnadu is _____. 

a. Rs. 1,42,267  b. Rs. 1,76,510   c. Rs. 1,30,372 
d. Rs. 1,11,246  e. Answer not known 
2017-2018k; Mz;by; jkpo;ehl;bd; jyh tUkhdk; 
a. &. 1>42>267   b. &. 1>76>510    c. &. 1>30>372 
d. &. 1>11>246  e. tpil njhpatpy;iy 
 

33. Simplify: 100 + 8 ÷ 2 + {(3 × 2) – 6 ÷2} 
a. 130  b. 125  c. 107  d. 103  e. Answer not known 
RUf;Ff. 100 + 8 ÷ 2 + {(3 × 2) – 6 ÷2} 
a. 130  b. 125  c. 107  d. 103  e. tpil njhpatpy;iy 
 

34. If four packets of biscuits are consumed by 12 girls, then 12 packets of biscuits can be 
consumed by _____ girls. 
a. 32  b. 34  c. 35  d. 36  e. Answer not known 
ehd;F ghf;nfl; gp];fl;Lfs; 12 ngz;fshy; cl;nfhs;sg;gLfpd;wd. vdpy;> 12 ghf;nfl; 
gp];fl;Lfis cl;nfhs;Sk; ngz;fspd; vz;zpf;if 
a. 32  b. 34  c. 35  d. 36  e. tpil njhpatpy;iy 
 

35. Sheela has paid simple interest on a certain sum for 4 years at 9.5% per annum is Rs. 
21,280. Find the sum. 
a. Rs. 50,600   b. Rs. 65,000   c. Rs. 56,000 

d. Rs. 66,000   e. Answer not known 
~Pyh vd;gth; xU Fwpg;gpl;l mrYf;F 4 Mz;LfSf;F 9.5% tl;b tPjj;jpy; 
jdptl;bahf &. 21>280 Ir; nrYj;jpdhh; vdpy; mriyf; fhz;f. 
a. &. 50>600   b. &. 65>000   c. &. 56>000 
d. &. 66>000   e. tpil njhpatpy;iy 
 

36. If 6 times of 6th term of an A.P is equal to 7 times the 7th term, then the 13th term of the 
A.P is 
a. 0   b. 6  c. 7  d. 13  e. Answer not known 
xU $l;Lj; njhlh; thpirapd; 6 tJ cWg;gpd; 6 klq;Fk; 7 tJ cWg;gpd; 7 klq;Fk; 
rkk; vdpy;> mf;$l;Lj; njhlh; thpirapd; 13 tJ cWg;G 
a. 0   b. 6  c. 7  d. 13  e. tpil njhpatpy;iy 
 

37. In the following series replace the question mark (?) with the suitable option. 
101, 100, ?, 87, 71, 46 
a. 88   b. 89  c. 92  d. 96  e. Answer not known 
gpd;tUk; njhlhpy; Nfs;tpf;Fwpia (?) rhpahd gjpyhy; epug;Gf 101, 100, ?, 87, 71, 46 
a. 88   b. 89  c. 92  d. 96  e. tpil njhpatpy;iy 
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38. In the following series one number is wrong. Find out the wrong number 5, 7.5, 11.25, 
17.5, 29.75, 50, 91.25 
a. 7.5  b. 17.5  c. 29.75 d. 91.25 e. Answer not known 
gpd;tUk; vz; njhlhpy; xU vz; jtwhf cs;sJ. jtwhd vz;izf; fhz;f  5, 7.5, 
11.25, 17.5, 29.75, 50, 91.25 
a. 7.5  b. 17.5  c. 29.75 d. 91.25 e. tpil njhpatpy;iy 
 

39. If R = {(a, -2), (-5, b), (8, c), (d, 1)} represents the identify function, then the values of a, b, 
c, d are ___, ____, ___, ____ respectively. 
a. 2, 5, 8, 1   b. 2, 5, -8, -1   c. -2, -5, -8, -1 
d. -2, -5, 8, 1   e. Answer not known 
R = {(a, -2), (-5, b), (8, c), (d, 1)} vd;gJ rkdpr; rhh;igf; Fwpf;Fnkdpy;> a, b, c kw;Wk; 
Mfpatw;wpd; kjpg;Gfs; KiwNa __, __, __, __ MFk;. 
a. 2, 5, 8, 1   b. 2, 5, -8, -1   c. -2, -5, -8, -1 
d. -2, -5, 8, 1   e. tpil njhpatpy;iy 
 

40. Assign the number of English alphabets as 1 for A, 2 for B upto 26 for Z. Find the 
meaning of 

7 15 15 4  13 15 18 14 9 14 7 

 a. GOOD EVENING  b. GOOD THOUGHT c. GOOD MORNING 
 d. COME QUICKLY  e. Answer not known 

Mq;fpy vOj;Jfspy; Af;F 1> B f;F 2> C f;F 3 vd;gJ Nghy; njhlh;e;J Z f;F 26 
vdf;nfhs;f. 

7 15 15 4  13 15 18 14 9 14 7 
 -d; tpsf;fj;ijf; fhz;f. 
 a. GOOD EVENING  b. GOOD THOUGHT c. GOOD MORNING 
 d. COME QUICKLY  e. tpil njhpatpy;iy 
 
41. If English Alphabets A → D, B → E, C → F, D → G,…., Z → C are arranged 

respectively. How will rewrite the word ‘KHOOR’. 
a. HELLO   b. HALIO   c. HILLO 
d. HELLS   e. Answer not known 
Mq;fpy vOj;Jf;fs; A → D, B → E, C→ F, D → G, …., Z → C vd KiwNa khw;wp 
mikf;fg;gl;lhy; ‘KHOOR’ vDk; thh;j;ij vt;thW khw;wp mikf;fg;gLk;? 
a. HELLO   b. HALIO   c. HILLO 
d. HELLS   e. tpil njhpatpy;iy 
 

42. How many triangles are there in the given figure? 

 
a. 5  b. 10  c. 15  d. 20  e. Answer not known 
fPNo nfhLf;fg;gl;Ls;s glj;jpy; vj;jid Kf;Nfhzq;fs; cs;sd? 

 
a. 5  b. 10  c. 15  d. 20  e. tpil njhpatpy;iy 
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43. A, B and C are employed to do a piece of work for Rs. 529. A and B together are 

supposed to do 
19

23
 of the work and B and C together 

8

23
  of the work what amount 

should A be paid? 
a. Rs. 315  b. Rs. 345 c. Rs. 355 d. Rs. 375 e. Answer not known 
&. 529 f;F xU Ntiyia nra;a A, B, C MfpNahh; epakpf;fg;gl;Ls;sdh;fs;. A Ak; B Ak; 

Nrh;e;J mt;Ntiyapd; 
19

23
 gFjpia nra;thh;fs; BAk; CAk; Nrh;e;J mt;Ntiyapd; 

8

23
  

gFjpia nra;thh;fs; vdpy; A ngWk; njhif vd;d? 
a. &. 315  b. &. 345 c. &. 355 d. &. 375 e. tpil njhpatpy;iy 
 

44. A can do a piece of work in 20 days and B can do it in 30 days. How long will they take 
to do the work together? 
a. 25 days  b. 20 days c. 15 days d. 12 days e. Answer not known 
A vd;gth; xU Ntiyia 20 ehs;fspYk;> B vd;gth; mNj Ntiyia 30 ehs;fspYk; 
nra;J Kbg;gh;. mt;tpUtUk; Nrh;e;J mt;Ntiyiar; nra;J Kbf;f vj;jid ehs;fs; 
MFk;? 
a. 25 ehs;fs;    b. 20 ehs;fs;  c. 15 ehs;fs; 
d. 12 ehs;fs;   e. tpil njhpatpy;iy 
 

45. A rectangular water tank is 8 m high, 6 m long and 2.5 m wide. How many litres of 
water can it hold? 
a. 120 litres   b. 1200 litres   c. 12000 litres 
d. 120000 litres  e. Answer not known 
8 kP cauk;> 6 kP ePsk; kw;Wk; 2.5 kP mfyk; nfhz;l xU nrt;tf tbt 
ePh;j;njhl;bahdJ vj;jid ypl;lu; ePiu nfhs;Sk;? 
a. 120 ypl;lh;   b. 1200 ypl;lh;  c. 12000 ypl;lh; 
d. 120000 ypl;lh;  e. tpil njhpatpy;iy  
 

46. An aquarium is in the form of a cuboid whose external measures are 80 cm × 30 cm × 40 
cm. The base, 2 side faces and back face are to be covered with a coloured paper. Find 
the area of the paper needed. 
a. 2400 cm2   b. 3200 cm2   c. 7800 cm2 
d. 8000 cm2   e. Answer not known 
xU fdr;nrt;tf tbt kPd;njhl;bapd; ntsp msTfs; KiwNa 80 nr.kP × 30 nr.kP × 
40 nr.kP njhl;bapd; mbg;gfk;> 2 gf;fthl;L Kfq;fs; kw;Wk; xU gpd;gf;f Kfk; Mfpad 
tz;zj;jhs; nfhz;L %lg;gl;lhy;> Njitg;gLk; tz;zj;jhspd; gug;gsT ahJ? 
a. 2400 nr.kP   b. 3200 nr.kP   c. 7800 nr.kP 
d. 8000 nr.kP   e. tpil njhpatpy;iy 
 

47. If the compound interest compounded annually at the rate of 12% p.a. for 3 years is Rs. 
432. Then the principal is 
a. Rs. 1066   b. Rs. 1067   c. Rs. 1069 
d. Rs. 1070   e. Answer not known 
12% Mz;L tl;b tPjg;gb 3 Mz;Lfspy; &. 432 $l;L tl;b jUk; mry;  
a. &. 1066   b. &. 1067   c. &. 1069 
d. &. 1070   e. tpil njhpatpy;iy 
 

48. If the principal is Rs. 30,000, r = 7% for I year, r = 8% for II year compounded annually 
then the compound interest is 
a. Rs. 5,668   b. Rs. 3668   c. Rs. 6668 
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d. Rs. 4668   e. Answer not known 
mry; &. 30>000 Kjyhk; Mz;L tl;b tPjk; r = 7% ,uz;lhk; Mz;L tl;b tPjk; r = 8% 
Mz;Lf;F xU Kiw tl;bf; fzf;fplg;gLfpwJ vdpy; $l;L tl;b  
a. &. 5>668   b. &. 3668   c. &. 6668 
d. &. 4668   e. tpil njhpatpy;iy 
 

49. A sum of money, put at simple interest, tribles itself in 15 years, find the rate of interest. 

a. 12 
2

3
% b. 13

𝟏

𝟑
% c. 16 

2

3
%  d. 20%  e. Answer not known 

xU Fwpg;gpl;l itg;Gj; njhifahdJ 15 Mz;Lfspy; jdptl;bapy; %d;W klq;fhdhy; 
mjd; Mz;L tl;b tPjk; fhz;f 

 a. 12 
2

3
% b. 13

𝟏

𝟑
% c. 16 

2

3
%  d. 20%  e. tpil njhpatpy;iy 

 
50. Find the simple interest of Rs. 500 for 6 years at 5% per annum. 

a. Rs. 120 b. Rs. 140 c. Rs. 150  d. Rs. 250 e. Answer not known 
&. 500f;F 6 Mz;Lfspy; 5% jdptl;b tPjk; fpilf;Fk; njhifiaf; fhz;f. 
a. &. 120 b. &. 140 c. &. 150  d. &. 250 e. tpil njhpatpy;iy 
 

51. The cost of one box of tomato is Rs. 200. Vendan had money to buy 13 boxes. If the cost 
of the box is increased to Rs. 260, then the number of boxes he will buy with the same 
amount is 
a. 7  b. 8  c. 10   d. 11  e. Answer not known 
xU ngl;b jf;fhspapd; tpiy &. 200. Nte;jd; mthplk; 13 ngl;bfis thq;Ftjw;fhd 
gzk; cs;sJ. xU ngl;bapd; tpiy &. 260 vd mjpfhpj;jhy; mthplk; cs;s gzj;ij 
itj;J thq;ff; $ba ngl;bfspd; vz;zpf;if 
a. 7  b. 8  c. 10   d. 11  e. tpil njhpatpy;iy 
 

52. A car travels 120 km in 1 hour 30 minutes. Then the time is required to cover 760 km is 
a. 8 hrs 30 minutes  b. 9 hrs   c. 9 hrs 30 minutes 

d. 10 hrs   e. Answer not known 
xU kfpOe;J 1 kzp 30 epkplj;jpy; 120 fp.kP J}uj;ij flf;fpwJ. vdpy; 760 fp.kP 
J}uj;ij flf;f MFk; Neuk; 
a. 8 kzp 30 epkplq;fs;  b. 9 kzp   c. 9 kzp 30 epkplq;fs; 
d. 10 kzp    e. tpil njhpatpy;iy 
 

53. Two numbers are in the ratio of 3:4. Their L.C.M is 84. Find the numbers? 
a. 7 and 12   b. 4 and 21   c. 2 and 42 
d. 21 and 28   e. Answer not known 
,U vz;fspd; kP.rp.k 84> ,t;tpU vz;fspd; tpfpjk; 3:4 vdpy;> mt;ntz;fisf; fhz;f? 
a. 7 kw;Wk; 12  b. 4 kw;Wk; 21  c. 2 kw;Wk; 42 
d. 21 kw;Wk; 28  e. tpil njhpatpy;iy 
 

54. The L.C.M. of (a + b)2, a2 – b2, (a-b)2 is 
a. (a + b)2   b. (a - b)2   c. (a + b) (a - b) 
d. (a + b)2 (a - b)2  e. Answer not known 
(a + b)2, a2 – b2, (a-b)2 d; kP.ngh.k 
a. (a + b)2   b. (a - b)2   c. (a + b) (a - b) 
d. (a + b)2 (a - b)2  e. tpil njhpatpy;iy 
 

55. Find the greatest number that will divide 445 and 572 leaving remainders 4 and 5 
respectively. 
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a. 72   b. 57  c. 63  d. 36  e. Answer not known 
445 kw;Wk; 572 I xU Fwpg;gpl;l vz;zhy; tFf;Fk; nghOJ KiwNa kPjp 4 kw;Wk; 5 
Ij;juf; $ba kpfg;nghpa vz;izf; fz;lwpf. 
a. 72   b. 57  c. 63  d. 36  e. tpil njhpatpy;iy 
 

56. If the HCF of 65 and 117 is expressible in the form of 65 m – 117 then find the value of 
m. 
a. 1   b. 2  c. 3  d. 4  e. Answer not known 
65 kw;Wk; 117-apd; kPg;ngU nghJ tFj;jpia 65 m – 117 vd;w tbtpy; vOjpdhy; m-d; 
kjpg;G fhz;f 
a. 1   b. 2  c. 3  d. 4  e. tpil njhpatpy;iy 
 

57. What percentage of a days is 10 hours? 
a. 2.4%  b. 24%  c. 4.166% d. 41.66% e. Answer not known 
xU ehspy; 10 kzp Neuk; vd;gJ vj;jid rjtPjk;? 
a. 2.4%  b. 24%  c. 4.166% d. 41.66% e. tpil njhpatpy;iy 
 

58. Which of the following statement is true? Newton’s law of Gravitation is 
a. The force of attraction between the sun and earth. 
b. The force of attraction between the moon and earth 
c. Not the attraction of an electron in orbit and the nucleus 
d. Both (a) and (b) are true 
e. Answer not known 
fPo;fz;ltw;Ws; vJ rhpahd $w;whFk;. epA+l;ldpd; <h;g;G tpjpahdJ 
a. #hpaDf;Fk; G+kpf;Fk; ,ilNaAs;s <h;g;G tpiria Fwpf;fpwJ. 
b. G+kpf;Fk; epyTf;Fk; ,ilNaAs;s <h;g;G tpiria Fwpf;fpwJ. 
c. vyf;l;uhDf;Fk; mZf;fUTf;Fk; ,ilNaAs;s <h;g;G tpiria Fwpf;fhJ  
d. (A) kw;Wk; (B) ,uz;Lk; rhpahdJ 
e. tpil njhpatpy;iy 
 

59. The splendid blue colour of ultramarine, which is used in oil paints and paper 
production is due to the presence of which one of the following ions? 
a. Polysulphide [ 2

2S − ]  b. Chloride   c. Sulphate 

d. Polyiodides   e. Answer not known  
vz;nza; tz;zg; G+r;R kw;Wk; jhs; jahhpg;gpy; gad;gLk; fUePyf;fy; (ultramarine) 
fPo;f;fhZk; ve;j xU madpahy; kpfr;rpwe;j ePyepwj;ijg; ngw;Ws;sJ? 
a. gy;ry;igl;L [ 2

2S − ]  b. FNshiuL   c. ry;Ngl;L 

d. gy;mNahilL   e. tpil njhpatpy;iy 
 

60. Which of the following is related to Newton’s first law? 
a. Energy    b. Work done   c. Momentum 
d. Inertia    e. Answer not known 
fPo;fz;ltw;Ws; vJ epA+l;ldpd; Kjy; tpjpNahL njhlh;GilaJ 
a. Mw;wy;    b. nra;ag;gl;l Ntiy  c. ce;jk; 
d. epiykk;    e. tpil njhpatpy;iy 
 

61. Hemocyanin is 
a. Zinc containing protein  b. Cu containing protein  c. Not a protein 
d. Fe containing protein  e. Answer not known 
`PNkhradpd; vd;gJ 
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a. Jj;jehfk; nfhz;l Gujk; b. jhkpuk; nfhz;l Gujk;  c. Gujk; ,y;iy 
d. ,Uk;G nfhz;l Gujk;  e. tpil njhpatpy;iy 
 

62. The relation between gravitational constant ‘G’ and acceleration due to gravity ‘g’ is 
a. GM = gR2   b. GM = gR   c. GM = g2R 
d. G = gR2   e. Answer not known 
<h;g;G khwpyp ‘G’ kw;Wk; Gtp <h;g;G KLf;fk; ‘g’ Mfpatw;wpw;fpilNaAs;s njhlh;G 
a. GM = gR2   b. GM = gR   c. GM = g2R 
d. G = gR2   e. tpil njhpatpy;iy 
 

63. Bromothymol blue is used as an acid-base indicator. The colour of bromothymol blue in 
acidic medium is 
a. Red  b. Yellow c. Orange d. Blue e. Answer not known 
GNuhNkhijkhy; ePyk; vd;gJ mkpy – fhu epiyf;fhl;bahf gad;gLfpwJ. mkpy 
Clfj;jpy; GNuhNkhijkhy; ePyk; epiyf;fhl;bapd; epwk; 
a. rptg;G b. kQ;rs; c. MuQ;R d. ePyk; e. tpil njhpatpy;iy 
 

64. Kepler’s law of Area is a statement of the law of conservation of 
a. Energy   b. Angular momentum  c. Momentum 
d. All the above  e. Answer not known 
nfg;shpd; gug;G tpjpahdJ ____ moptpd;ik tpjpapd; gb mikfpwJ. 
a. Mw;wy;    b. Nfhz ce;jk;   c. ce;jk; 
d. Nkw;fz;l midj;Jk;   e. tpil njhpatpy;iy 
 

65. Iodine is insoluble in water. Then how Tincture of Iodine is prepared? 
a. By dissolving iodine in alcohol 
b. By dissolving equal amount (10g) of iodine and potassium iodide in water 
c. By dissolving potassium iodide in water 
d. The aquous solution of I2 and KI is making (upto 300 ml) in rectified spirit 
e. Answer not known 
mNahbd; ePhpy; fiuahJ? gpd; vt;thW bd;rh; mNahbd; jahhpf;fg;gLfpwJ? 
a. mNahbid My;f`hypy; fiuj;J 
b. rk msTs;s mNahbd; (10g) kw;Wk; nghl;lhrpak; mNahilia ePhpy; fiuj;J 
c. nghl;lhrpak; mNahilia ePhpy; fiuj;J 
d. mNahbd; kw;Wk; nghl;lhrpak; mNahilbd; ePh;k fiuriy fha;r;rp tbj;j 

My;f`hYld; Nrh;j;J 300 ml mstpw;F fiuriy jahhpj;J  
e. tpil njhpatpy;iy 

 
66. In 2021, the Government of Tamilnadu has decided to celebrate the Birth Anniversary 

of Thanthai Periyar as the  
a. Women’s Development day    b. Tamil Awareness day 
c. Social Justice day      d. Dravida day 
e. Answer not known 
2021k; Mz;L jkpof muR je;ij nghpahhpd; gpwe;jjpdj;ij ____ Mff; nfhz;lhl KbT 
nra;Js;sJ. 
a. ngz;fs; tsh;r;rp ehs;     b. jkpo; tpopg;Gzh;T ehs; 
c. r%f ePjp ehs;      d. jpuhtpl ehs; 
e. tpil njhpatpy;iy 
 

67. Which of the following Chinese Apps are prohibited? 
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1. Helo 
2. Cam scanner 
3. Baidu map 
4. Tik-Tok 
a. 4 only   b. 2 and 3 only   c. 2only 
d. 1, 2, 3 and 4  e. Answer not known 
gpd;tUtdtw;wpy; jilnra;ag;gl;l rPdhtpd; nraypfs; ahit? 
1. N`Nyh 
2. Nfk; ];Nfdh; 
3. igLtpd; topfhl;b 
4. bf; lhf; 
a. 1 kl;Lk;    b. 2 kw;Wk; 3 kl;Lk;  c. 2 kl;Lk; 
d. 1> 2> 3 kw;Wk; 4 Mfpait e. tpil njhpatpy;iy 
 

68. During December 2021, the animal found in Manambolly forest range of Anamalai 
Tiger reserve, which was listed on schedule-I of wild life protection Act 1972 and 
Appendix II of CITES is 
a. Lion tailed monkey  b. Leopard   c. Tiger 
d. Nilgiri Tahr   e. Answer not known 
brk;gh; 2021-y; Midkiy Gypfs; fhg;gfj;jpw;Fl;gl;l khdhk;gs;sp fhl;Lg; gFjpapy; 
fhzg;gl;l tpyq;fpdk;> tdtpyq;F ghJfhg;Gr; rl;lk; 1972-y; gl;bay; I-Yk;> CITE 
xg;ge;jg; gl;baypy; gpd; ,izg;G II-Yk;> fhzg;gLtJ vJ? 
a. rpq;f thy; Fuq;F  b. rpWj;ij    c. Gyp 
d. tiuahL    e. tpil njhpatpy;iy 
 

69. ‘Dashasutra’ means 
a. Ten laws of vedic maths   b. Ten features of share market 
c. Ten principles for SHGs  d. Ten resources of marine wealth 
e. Answer not known 
‘jrh#j;uh’ vd;gJ 
a. Ntj fzpjj;jpd; gj;J tpjpfs;    
b. gq;Fr; re;ijapd; gj;J mk;rq;fs; 
c. Ra cjtpf; FOf;fspd; gj;Jf; nfhs;iffs; 
d. fly; rhh;e;j gj;J tsq;fs; 
e. tpil njhpatpy;iy 
 

70. Modern Odisha was formed in year? 
a. 1926 b. 1929 c. 1936  d. 1939 e. Answer not known 
etPd Xhprh _____ Mk; Mz;L cUthf;fg;gl;lJ? 
a. 1926 b. 1929 c. 1936  d. 1939 e. tpil njhpatpy;iy 
 

71. When did the National Food Security Act 2013, came into force? 
a. 05 April 2013  b. 05 May 2013  c. 05 June 2013 
d. 05 July 2013  e. Answer not known 
Njrpa czTg; ghJfhg;Gr; rl;lk; 2013 vg;NghJ eilKiwf;F te;jJ? 
a. 05 Vg;uy; 2013  b. 05 Nk 2013  c. 05 [_d; 2013 
d. 05 [_iy 2013  e. tpil njhpatpy;iy 
 

72. The Chairman of Goods and Services Tax (GST) council in India is 
a. Prime Minister  b. Home Minister  c. Union Finance Minister 
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d. President   e. Answer not known 
,e;jpahtpy; ruf;F kw;Wk; Nrit thp rigapd; jiyth; ____ Mthh;. 
a. gpujkh;    b. cs;Jiw mikr;rh; c. A+dpad; epjp mikr;rh; 
d. [dhjpgjp   e. tpil njhpatpy;iy 
 

73. The population size of Class II urban settlements is 
a. 10,000 to 19,999  b. 50,000 to 99,999  c. 20,000 to 49,999 
d. 5,000 to 9,999  e. Answer not known 
,uz;lhk; ju efh;Gw FbapUg;Gfspd; kf;fs; njhifahdJ 
a. 10,000 - 19,999  b. 50,000 - 99,999  c. 20,000 - 49,999 
d. 5,000 - 9,999  e. tpil njhpatpy;iy 
 

74. Which one of the following railway zones has ‘Hubli’ as its headquarters? 
a. South Central Railway zone  b. South Western Railway zone 
d. West Central Railway zone  d. South Eastern Railway zone 
e. Answer not known 
`_g;spia jiyikaplkhf nfhz;l ,uapy;Nt kz;lyk; vJ? 
a. njd; kj;jpa ,uapy;Nt kz;lyk;  b. njd; Nkw;F ,uapy;Nt kz;lyk; 
c. Nkw;F kj;jpa ,uapy;Nt kz;lyk;  d. njd; fpof;F ,uapy;Nt kz;lyk; 
e. tpil njhpatpy;iy 
 

75. _____ forests are degradable, unproductive and unprofitable. 
a. Reserved   b. Protected   c. Unclassified 

d. Classified   e. Answer not known 
rPuopTilaJ> gadw;wJ kw;Wk; yhgkw;wJkhd fhLfs; 
a. xJf;fg;gl;lJ  b. ghJfhf;fg;gl;lJ  c. tifg;gLj;jg;glhjJ 
d. tifg;gLj;jg;gl;lJ e. tpil njhpatpy;iy 
 

76. Which of the following rivers flows in the Kashmir Valley? 
a. Jhelum   b. Chenab   c. Ravi 
d. Sindh   e. Answer not known 
gpd;tUtdtw;wpy; fh~;kPh; gs;sj;jhf;fpy; ghAk; MW vJ? 
a. [Pyk;   b. rPdg;   c. uh/gp 
d. rpe;J   e. tpil njhpatpy;iy 
 

77. The rains caused by thunderstorms is called as ‘Cherry Blossoms’ in the state of  
a. Kerala   b. Karnataka   c. Tamil Nadu 
d. Andhra Pradesh  e. Answer not known 
‘nrh;hp g;shrk;];’ vd;W miof;ff;$ba ,bAld; $ba kio ngWk; khepyk; 
a. Nfush   b. fh;ehlfh   c. jkpo;ehL 
d. Me;jpu gpuNjrk;  e. tpil njhpatpy;iy 
 

78. The Arya Mahila Samaj at Poona in 1882, was founded by  
a. Pandit Ramabai  b. Madam Bhikaji Cama  c. Nanibala Devi 
d. Nalini Sen Gupta  e. Answer not known 
1882-k; Mz;L G+dhtpy; Mhpa kfpsh rkh[;ia epWtpath; 
a. gz;bl; ukhgha;  b. Nklk; gpf;fh[p fhkh  c. ehdpghyh Njtp 
d. espdp nrd; Fg;jh e. tpil njhpatpy;iy 
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79. Name the Mughal ruler under whose reign European painting was introduced by the 
Portuguese priest 
a. Babur   b. Akbar   c. Shahjahan 
d. Aurangazeb  e. Answer not known 
Nghh;j;JfPrpa ghjphpahuhy; INuhg;gpa Xtpaq;fs; ve;j nkhfyha kd;dhpd; Ml;rpapy; 
mwpKfk; nra;ag;gl;lJ? 
a. ghgh;   b. mf;gh;   c. ~h[`hd; 
d. xsuq;frPg;   e. tpil njhpatpy;iy 
 

80. During whose reign Firozshah’s Yamuna canal was repaired for the first time 
a. Babur   b. Akbar   c. Shahjahan 
c. Aurangazeb  e. Answer not known  
ahUila Ml;rpf; fhyj;jpy; Kjy; Kiwahf ngNuh~htpDila aKdh fhy;tha; 
gOJghh;f;fg;gl;lJ? 
a. ghgh;   b. mf;gh;   c. ~h[`hd; 
d. xsuq;frPg;   e. tpil njhpatpy;iy 
 

81. Alamgir-nama was written by 
a. Munshi Mirza Mohamed Kasim   b. Khafi Khan 
c. Bhimsen    d. Tansen  e. Answer not known 
Myk;fPh; ehkhit vOjpaJ ahh;? 
a. Kd;rp kph;rh KfkJ fhrpk;  b. fgp fhd;   c. gPk;nrd; 
d. jhd;nrd;     e. tpil njhpatpy;iy 
 

82. During which Gupta king reign, the Huns invaded India for the firs time? 
a. Kumara Gupta I   b. Puru Gupta  c. Skanta Gupta 
d. Budha Gupta   e. Answer not known 
`Pdh;fspd; Kjy; gilnaLg;G ve;j Fg;j kd;dh; Ml;rpf; fhyj;jpy; epfo;e;jJ? 
a. Kjyhk; Fkhu Fg;jh;  b. GU Fg;jh;   c. ];fe;j Fg;jh; 
d. Gj Fg;jh;    e. tpil njhpatpy;iy 
 

83. Who narrated the tortues and execution committed by Muhammad-bin- Tuglaq? 
a. Ferishta    b. Ferdausi   c. Ibn-Batuta 
d. Irfan Habib   e. Answer not known 
KfkJ-gpd;-Jf;sf; fhyj;jpy; eilngw;w fLikahd jz;lidfs; kw;Wk; nfhiyfs; 
gw;wp Fwpg;gpl;lth; ahh;? 
a. nghp~;lh    b. gph;njsrp   c. ,gd; gJ}jh 
d. ,h;ghd; `gPg;   e. tpil njhpatpy;iy 
 

84. Who took Balban as a captive when he was young? 
a. Mangols   b. Huns    c. Turks 
d. Tartars   e. Answer not known 
ghy;gd; rpWtdhf ,Ue;j NghJ mtiu fth;e;J nrd;wth;fs; ahh;? 
a. kq;Nfhypah;  b. `_dh;fs;   c. JUf;fpah; 
d. lhh;lhhpah;   e. tpil njhpatpy;iy 
 

85. Name the Gold coin issued by Muhammad-bin-Tughlaq. 
a. Varaha   b. Pagoda    c. Adali 
d. Dinar   e. Answer not known 
Kfk;kJ gpd; Jf;sf; ntspapl;l jq;f ehzaj;jpd; ngah; 
a. tuhfd;   b. gNfhlh   c. mjhyp 
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d. jpdhh;   e. tpil njhpatpy;iy 
 

86. Consumer Protection Act is applicable to  
a. immovable goods  b. movable goods  c. specific goods and services 
d. all goods and service e. Answer not known 
Efh;Nthh; ghJfhg;Gr; rl;lk; nghUe;Jk; 
a. mirah nghUl;fs;    b. mirAk; nghUl;fs;  
c. Fwpg;gpl;l nghUl;fs; kw;Wk; Nritfs;  d. midj;J nghUl;fs; kw;Wk; Nritfs; 
e. tpil njhpatpy;iy 
 

87. The state to provide free legal aid to the poor has been inserted to Indian constitution 
by which amendment? 
a. 42nd Amendment   b. 44th Amendment  c. 62nd Amendment 
d. 43rd Amendment   e. Answer not known 
‘ViofSf;F ,ytr rl;l cjtp muR toq;Ftjw;fhd rl;lk;’ ve;j murpayikg;G rl;l 
jpUj;jj;jpd; %yk; ,e;jpa murpayikg;gpy; Nrhf;fg;gl;lJ? 
a. 42tJ rl;ljpUj;jk;  b. 44tJ rl;ljpUj;jk; c. 62tJ rl;ljpUj;jk; 
d. 43tJ rl;ljpUj;jk;  e. tpil njhpatpy;iy 
 

88. No-confidence motion to be admitted in the Lok Sabha needs the support of 
a. 160 members   b. 80 members  c. 140 members 
d. 50 members   e. Answer not known 
Nyhf;rghtpy; ek;gpf;ifapy;yhj; jPh;khdk; mwpKfg;gLj;j Njitahd MjuT 
a. 160 cWg;gpdh;fs;   b. 80 cWg;gpdh;fs;  c. 1420 cWg;gpdh;fs; 
d. 50 cWg;gpdh;fs;   e. tpil njhpatpy;iy 
 

89. Which Article of Indian constitution says, “There shall be a High Court for each state” 
a. Art. 214   b. Art. 215   c. Art. 216 
d. Art. 217   e. Answer not known 
,e;jpa murpayikg;gpd; ve;j ~uj;J “xt;nthU khepyj;jpw;Fk; xU cah;ePjpkd;wk; 
,Uf;f Ntz;Lk;” vdf; $WfpwJ? 
a. tpjp 214   b. tpjp 215   c. tpjp 216 
d. tpjp 217   e. tpil njhpatpy;iy 
 

90. With reference to Veto power of the President consider the following statements. 
1. Ordinary bills can be ratified, rejected and returned 
2. Money bills can be ratified, rejected but not returned 
3. Constitutional amendment bills can be ratified, rejected or returned 
Which of the above mentioned is/are correct? 
a. 1, 2 and 3   b. 1 and 2   c. 2 and 3 
d. 1 and 3   e. Answer not known 
FbauRj; jiythpd; jLg;GKiw Miz (mjpfhuk;) gw;wpa thf;fpaq;fis ftdpf;fTk;. 
1. rhjhuz kNrhjhf;fis cWjp nra;jy;> epuhfhpj;jy; kw;Wk; jpUg;Gjy; $Lk;. 
2. gz kNrhjhit cWjp nra;jy; kw;Wk; epuhfhpj;jy; $Lk; Mdhy; jpUg;Gjy; $lhJ. 
3. murpayikg;G jpUj;jk; kNrhjhit cWjp nra;jy;> epuhfhpj;jy; my;yJ jpUg;Gjy; 

$Lk;. 
Nky; fhzg;gLgitapy; vJ/vit rhpahdJ? 
a. 1> 2 kw;Wk; 3   b. 1 kw;Wk; 2    c. 2 kw;Wk; 3 
d. 1 kw;Wk; 3   e. tpil njhpatpy;iy 
 

91. Consider the following statements on the powers of the President to grant pardon: 
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(i) He exercises his authority as a court of appeal 
(ii) His power is not independent of the Judiciary 
(iii) The President is not bound to hear a petitioner’s  
(iv) Power of grant pardon is primarily a matter for his discreation 
a. i only correct  b. i and ii only correct  c. iii only correct 
d. iii and iv only correct e. Answer not known 
FbauR jiythpd; kd;dpg;gspf;Fk; mjpfhuk; gw;wpa fz;l $w;Wf;fis fUjTk; 
(i) mth; ,e;j tptfhuj;jpid Nky; Kiwapl;L ePjpkd;wkhf nray;gLj;Jfpwhh;. 
(ii) mthpd; mjpfhuk; ePjpkd;wj;jpd; mjpfhuj;jpw;f;F mg;ghw;gl;lJ ,y;iy 
(iii) FbauR jiyth; fUiz kD NfhUNthUf;F fl;Lg;gl Ntz;ba mtrpak; 

,y;iy. 
(iv) kd;dpg;gspf;Fk; mjpfhuk; vd;gJ mbg;gilapy; mtUila rpwg;gjpfhuk; MFk;. 
a. (i) kl;Lk; rhp   b. (i) kw;Wk; (ii) rhp  c. (iii) kl;Lk; rhp 
d. (iii) kw;Wk; (iv) kl;Lk; rhp e. tpil njhpatpy;iy 
 

92. The committee which makes it recommendation to the Governor  on the appointment 
of Chair Person of SHRC consists of 
a. Chief Minister, Speaker, Home Minister, Leader of Opposition and Law Minister 
b. Chief Minister, Speaker, Home Minister, Leader of Opposition 
c. Chief Minister, Speaker, Leader of Opposition, Sitting Judge of High Court/District 

Court 
d. Chief Minister, Speaker, Home Minister, Leader of the Opposition, Sitting judge 

of High Court/District Court 
e. Answer not known 
khepy kdpj chpikfs; Mizaj;jpd; jiyth; gjtpf;fhd egiu MSeUf;F 
ghpe;Jiuf;Fk; FOtpy; cs;s cWg;gpdh;fs; 
a. Kjyikr;rh;> rghehafh;> cs;Jiw mikr;rh;> vjph; fl;rp jiyth; kw;Wk; rl;l 

mikr;rh;. 
b. Kjyikr;rh;> rghehafh;> cs;Jiw mikr;rh; kw;Wk; vjph; fl;rp jiyth; 
c. Kjyikr;rh;> rghehafh;> vjph; fl;rp jiyth; kw;Wk; jw;Nghija cah; ePjpkd;w / 

khtl;l ePjpkd;w ePjpgjp. 
d. Kjyikr;rh;> rghehafh;> cs;Jiw mikr;rh;> vjph; fl;rp jiyth; kw;Wk; jw;Nghija 

cah; ePjpkd;w / khtl;l ePjpkd;w ePjpgjp. 
e. tpil njhpatpy;iy 

 
93. The constitution amendment which provides for a common High Court for two or more 

states is 
a. 7th amendment act 1956   b. 8th amendment act 1960 
c. 9th amendment act 1962   d. 10th amendment act 1964 
e. Answer not known 
,uz;L my;yJ mjw;F Nkw;gl;l khepyq;fSf;F nghJthf cah; ePjpkd;wj;ij toq;Fk; 
murpayikg;G jpUj;jr; rl;lk; 
a. 7tJ jpUj;jr; rl;lk; 1956   b. 8tJ jpUj;jr; rl;lk; 1960 
c. 9tJ jpUj;jr; rl;lk; 1962   d. 10tJ jpUj;jr; rl;lk; 1964 
e. tpil njhpatpy;iy 
 

94. NITI Aayog as replacement for the planning Commission on 1st Jan, 2015 with _____ as 
its Vice-Chair Person. 
a. G.S. Bhalla    b. Arvind Panagariya c. Vijay I. Kelkar 
d. Suresh D. Tendulkar  e. Answer not known 
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jpl;lf; FOtpw;F khw;whf 1> [dthp 2015 md;W nfhz;L tug;gl;l epjp MNahf;fpd; 
mg;Nghija Jizj; jiyth; 
a. G.S. gy;yh    b. mutpe;j; gdfhhpah  c. tp[a; I. Nfy;fh; 
d. RNu~; D. nlz;Ly;fh;  e. tpil njhpatpy;iy 
 

95. The objectives of RBI’s Monetary policy are  
I. Price stability 
II. Tax rate  
III. Social justice 
Select the correct answer by using the codes given below: 
a. I alone is correct   b, I and II are correct c. I and III are correct 

d. I, II and III are correct  e. Answer not known 
,e;jpa hprh;t; tq;fp gzf; nfhs;ifapd; Nehf;fq;fs; 
I. tpiy epiyg;gLj;Jjy; 
II. thp tpfpjk; 
III. r%f ePjp 
FwpaPLfisg; gad;gLj;jp rhpahd tpiliaj; njhpT nra;f: 
a. I kl;Lk; rhp   b. I kw;Wk; II kl;Lk; rhp c. I kw;Wk; III kl;Lk; rhp 
d. I, II kw;Wk; III kl;Lk; rhp  e. tpil njhpatpy;iy 
 

96. Cascading Tax effect means 
a. Tax effect   b. Tax on tax   c. Progressive tax effect 
d. Direct tax effect  e. Answer not known 
mLf;F thp tpidT vd;gJ 
a. thp tpisT  b. thp kPjhd thp  c. tsh; tPj thp tpisT 
d. Neh;Kf thp tpisT e. tpil njhpatpy;iy 
 

97. The optimum theory of population was propounded by 
a. Edwin Cannan  b. Malthus   c. Keynes 
d. Ricardo   e. Answer not known 
kf;fs; njhifapd; cfe;j Nfhl;ghl;il epWtpath; ahh;? 
a. vl;tpd; Nfdd;  b. khy;j];   c. fPd;]; 
d. hpf;fhh;Nlh   e. tpil njhpatpy;iy 
 

98. In India the NREGA came into force on 
a. 2 February 2006  b. 28 April 1989  c. 1 April 1999 
d. 2 October 1993  e. Answer not known 
,e;jpahtpy; NREGA ____ md;W eilKiwf;F te;jJ. 
a. 2 gpguthp 2006  b. 28 Vg;uy; 1989  c. 1 Vg;uy; 1999 
d. 2 mf;Nlhgh; 1993  e. tpil njhpatpy;iy 
 

99. _____ committee was formed for the growth of basic petrochemicals and their end 
products. 
a. C.H. Hanumantha Rao Committee   b. D.R. Gadgil Committee 
c. D.V. Kapur Committee     d. K.S. Chalapati Rao Committee 
e. Answer not known 
mbg;gil ngl;Nuh nfkpf;fy;fs; kw;Wk; mtw;wpd; ,Wjp jahhpg;Gfspd; tsh;r;rpf;fhf FO 
cUthf;fg;gl;lJ. 
a. `Dkd;juht; FO  b. D.R. fhl;fpy; FO  c. D.V. fG+h; FO 
d. K.S. ryhg;gl;b uht; FO  e. tpil njhpatpy;iy 
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100. Which pair is not related to Intensive Area Development Programme (IADP)? 

a. Ludhiana in Punjab   b. Aligarh in Uttar Pradesh 
c. Thiruvarur in Tamilnadu  d. Pali in Rajasthan 
e. Answer not known 
ve;j gFjp jPtpu gFjp Nkk;ghl;Lj; jpl;lj;Jld; njhlh;GilaJ my;y? 
a. Yjpahdh> gQ;rhg;   b. mypfhh;> cj;jpu gpuNjrk; 
c. jpUth&h;> jkpo;ehL   d. ghyp> uh[];jhd; 
e. tpil njhpatpy;iy 


